Fill in the blanks. The correct answer in each case is either “a scalar’, “a vector” or “not valid’.
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Fill in the blanks. C2AOED RY M[—_g/ SCORE: __ /6PTS

NOTE: For each part (ie. [a], [b], [c]), you must fill in at least 2 blanks correctly to receive any credit.

[a] Ifplane o, is perpendicular to plane 0, , thenthe N (/M7 vector of plane (0, is Perz FonDIC UL AT2 to

the N2 AL vector of plane 2, .

[b] If line ¢ is parallel to plane %, then the D)o vector of line ¢ is P=yz pead s OLAT?_to

the _ NOYEMAT vector of plane 0.

Ic] If plane o is perpendicular to line £, then the MO (20 Al vector of plane g is PARZALLEL.  to

the D 0R&CT1ON  vector of line £.




Fill in the blanks. SCORE: /3 PTS
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[l 1FxB=<4,-72> then bxF= (-4 "7,-f2>\@

—

[b] WX i = L@ ® “— MUST RE A \ezro2

[c] If m is a vector of magnitude 4, and ¢ is a vector of magnitude 14 , and the angle between 77 and ¢ is —3’5 radians,

then the magnitude of ¢ x m = l??? f_’j IO )l } Sy 9 = O 4}(4‘} gw,\?ﬁﬁ‘:ﬂ =( (i ﬁ {7 \\




Let P be the point (-2, —1,5). SCORE: /17 PTS
Let R be the point (-5, 2, —3).
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Let O be the point such that PO =i +2k .

X — "5
[a] Find symmetric equations for the line which is parallel to y = 4f — 2, and also contains R .
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[b] Find the area of the parallelogram with P, O and R as 3 ofits 4 vertices. :
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[c] Find parametric equations for the line which is perpendicular to 2z —x =3, and also contains P .

2//? = 4/!/0, 2> [T A=
S 3 PONTS IF you 607 AL D pieHT
"%'3"5* ot CD POINT 1F YOU 60T 2 RIGHT

Z @) powts |F Yoo &iT (O or A mieHT
[d] Find a vector of magnitude 35 perpendicular to both PQ and PR.
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(e] Find the standard (point-normal) equation of the plane which contains P, Q) and R.
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